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2. Assume that the code shown below has been executed:
begin code

>A=10129,0, 6,8, 3, 0];

end code

Write the output that the following commands will produce. Do not worry about the exact format
of the output. If the result produces a MATLAB error, write "ERROR."

(a) > A3

ans = C /

(b) >> A@3) >=0

w1/

(c) > A([1,3,5])

a.ns=0765 /

(d) > A([2,4,6])

ms- 0 B2 /

(e) >> A([1,3,5]) / 3 +1

ms- Y 32 [/

(f) >> A([1,3,5]) >=6

ws= | Lo/

(g) >> AC[1,3,50) . A([2,4,6])

ans = O 7% o /

(h) >> AC[1,3,51) + AC[2,4,6]) ./ AC[2,4,6])

ans = A\Ng /) Z/ SIUN! /
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1. What is the output when the following commands are typed in sequence from the MATLAB
command window? Do not worry about the exact format of the output.

(a)>>a*x2/2"2+1
S o

«\?fmi)/’%
by >4 *x2/2" (2+1)
3 3

s 11/

(c)>>86*x2/2<2+1
e /q
¢ <3

ans = [ &

(dy>»> 16 2]/2<2Z+1

(e)>[6 21 /2 .72+1
s

Y
cos g

Q,< /’Y’
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3. Assume that the 2D array:

1 6 -9
2 7 0
A= 4 3 9
=g -3 ~fF

has been defined, i.e.

: begin code
>>A=1[16-9;270; 439; -3-2-7];
end code

Write the output that the following commands will produce. Do not worry about the exact format
of the output. If the result produces a MATLAB error, write "ERROR.”

(a) >> A(4,3)

ans = -z

(b) >> A(3,4)

ans = F /ALON

(c) >> A9

e =]

(e) >»> A(1:2, 2:3)

ans = 2 0
(f) >> A(1, end-1:end)

ans = é"?

; />> A([1,4],01,3]) < 1
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4. Suppose that a row vector r of unknown length has been defined. Write matlab code (no more
than 2 lines) that will reverse the order of the elements of the vector. For example,

e if T was generated using the matlab code R VS
>r=[1 -4 3];

your code should return

begin code

end code

iy

kew%
'P\eo\% add 4 ‘PomJr +o

‘%\vs CX o [SCorL -
%k% "
@ogoe;ig\

page 5/9




E7 Midterm 1, Fall 2007 NAME: A\ /AN

5. Write, in the code box shown below a function ReplaceChar, which will replace all occurrences
of one character in a string by another character.

The function ReplaceChar should have three input arguments:

e the input string,
e the character to be replaced,

e the replacing character,
and one output argument:
e the modified string.

Below is an example of how ReplaceChar should work when it is used in the command window:

>> st1 = ReplaceChar(’this is a test’,’t’,’T’)
stl =
This is a TesT

- begin code
VX&' [Mou, s < Lept ace Cher Gin_ort ; U%)/?_JC()’ e Mﬁﬂ)

a= ((V1D§77Z(C/JCIF~.(‘LPI (m,c;,/L) /
/AJ-%'T/Z(Q\\ = Newy— cHAR
MoD- S TL = (VoS TH

end code
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6. Let A, C, D, E, and F be defined as in the following MATLAB script.

begin code
>> clear
>> A = {’Golden’,{’Bears’},[3,1;4,21};
>> C.f = {7};
>> D.f = 88;
>> E = [C D];
>> F = {[12 5] A E};

end code -

Write the output that the following commands will produce. Do not worry about the exact format
of the output. If the result produces a MATLAB error, write “ERROR."

(a) >> size(A{1}) /
ans = 6 — 0 1)
(b) >> size(A{2})
ans = | X\ \/
(c) >> a{2}{1} == ‘e’
ans = ) “ |

(d) >> size(A(1:2))

ans = E/ﬂ()l(‘ 7/ r

(&) > [A{2H1} F{2}(})) s A
ans = £ ZA00 - ’

(f) Write an expression that extracts the nupiber 88 from the variable F.

3

P3P
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7. Consider the following lines of code:

begin code

>> clear
>> schools(1).SchoolName = ’Cal’;
>> schools(1) .TeamName = ’Golden .Bears’;
>> schools(2).SchoolName = ’UCLA’;
Au() >> schools(2) .TeamName = ’Bruins’;
>> schools(3).SchoolName = ’Stanford’;
‘({> >> schools(3) .TeamName = ’Gardinal’;
>> schools(4) .SchoolName = ’USC’;
>> schools(4).TeamName = ’Trojans’;
end code

(a) What size is schools?

x Y l/

(b) What is the class of schools?

< TAUC T

(c) How many fields does schools have? /

Define B and C as

begin code

>> B = [schools.SchoolName];
>> C = {schools.TeamName};

snd code

(d) What size is B? X118 /

(e) What size is C7 | x4 /

(f) What class is B? l/
Coralt

(g) What is the value of B(6:9)7
LAsH
(h) What is the value of C{3}7

\ )
Caedina |
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(1) By direct assignment, add a field, named Location, to schools. The values should be
character strings, using LosAngeles (for USC), Westwood (for UCLA), Berkeley (for Cal),
and ShallowAlto (for Stanford). Show your code below.

o SCHoots (. (0CATII) = VeepkrcsU !
l -
55 Scirools (2). (o0 70N = 'WEsSTWOO D 1

> 50r7000s((3) . LECATIN = oot BLTO |

> Serrtoes (). (ICATIN, = Losmitilss!
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